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public class ElevatorCapacity {

/**
* args
*/
public static void main(String[] args) {
// Auto-generated method stub
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public class ElevatorCapacity {

public static void main(String[] args) {
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System.out.println("How many people should get on?");
}
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int weightOfEachPerson = 75;
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int elevatorCapacity = 750;
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int numberOfPeople = elevatorCapacity / weightOfEachPerson;
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boolean doorClosingOrder = numberOfPeople > 10;
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public class ElevatorCapacity {

public static void main(String[] args) {
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System.out.println("How many people should get on?");
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int weightOfEachPerson = 75;
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int elevatorCapacity = 750;
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int numberOfPeople = elevatorCapacity / weightOfEachPerson;
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boolean doorClosingOrder = numberOfPeople > 10;
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System.out.println("Is the number of people more than 10?");
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System.out.println(doorClosingOrder);

}
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<terminated> ElevatorCapacity [Java Application] C\Program Files'Java'jrefbin'j:
How many people should get on?

Is the number of people more than 182
false
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